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Cirok Vitézslav CBA 9 9 10 10 38 1.
Zales Milan CBA 10 10 9 8| 37 2.
Mriglod Milan CBA 7 8 6 5[ 26 3.
Gdébor Ladislav CBA 4 5 9 18 4.
Dvoracek Karel CBA 5 3 7| 15 5.
Forman Rudolf CBA 1 7 5 2| 15 6.
Prokes Daniel CBA 2 7 9 7.
Slavicek Petr CBA 3 6 9 8.
Vogeltanz Martin CBA 8 8 9.-10.
Tomiczek Milan CBA 8 8 9.-10.
Sipl Achim CBA 6 6 [11.-12.
Herda Ondrej CBA 6 6 11.-12.
Mayer Karel CBA 4 4 13.-14.
Busek Matyas CBA 4 4 13.-14.
Nepustil Zdenék 3 3 15.
Kubic¢ek Tomas CBA 2 2 16.
Bohac Jiri CBA 1 1 17.




